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a—F E Fik | PR (kg) 2% (M) =il il el | PE Hi (BAL)
Y3002 = (&4 12 12, 658 1,728 648 648 | B 12kg
31200 ||LE3E 3 1,512 108 108 108 | &M 143K
Y3014 | KARIE 1,836 119 119 108 | BH 163K
32600 |&F¥ 907 65 65 65| &M 143K
34200 |FEIL 648 81 81 81| &M 8{A
Y3033 | 2T 300 30, 780 216 54 32 BW 300kg
37200 L x 9 A% 13 5, 832 486 432 432 | BN 13kg
Y3017 &Y 1, 404 1, 404 1,404 1,404 | BHN lkg
31500 |/MAE 864 86 86 86 | &MY 104%
34800 |B< & 2, 495 119 119 119 | BHN 121% v b
36340 [HE L RREEE 16 4, 822 324 324 286 | BN 16kg
71011 A7 L —3 16, 200 216 216 162 | BH 803
71150 | LiX 324 32 32 21BN 103K
71160 |#3¥ (&) 9,612 49 36 11| BMW 336K > b
30100 (W Z A 110 9,612 108 108 59 | = I 1104
30100 |72V Z A 2L 221 15, 552 108 86 59 |2 1844
30100 72\ Z A M 10 713 59 59 59 | 124
30100 [7SWZ A M 20 1, 069 54 54 43 |G 227
30200 a5 4 648 32 32 2| ERE 20K
30300 A% L 60 15, 390 2,700 2,538 2,538 | b#EE 64— A
31100 H¥ 225 5, 422 432 324 281 |ER G 15—
31200 | 4 648 32 32 2 BIRE 2048
33500 BT FHFE L 4 778 22 22 22 | & [ 3648
33810 HREXK 8 2,322 86 54 54 | BB 4048
37440 Wb 2 896 896 896 896 | IR & 17—
| 32600 |FH 4 864 43 43 43 | 18 [ 204%
31700 | ¥ ¥~ 240 12, 960 540 540 540 | ‘= IR 244 — R
31800 [1E 9 ALAEL 8 3,942 119 119 65 |2V 4048
31950 HAX 15 4, 752 1,296 864 864 | BT I 54— A
31900 ¥ 10 10,195 540 540 454 | IR B 203 (500g)
32800 [ITH 810 540 540 270 | B iRy 248
32800 125 1,134 76 76 54 | B I 173
34300 | 72d 35 11,016 1,944 1, 620 1, 404 |KEA T —2A
34400 | b= k 2L 24 10, 584 1,944 1,728 1, 728 |HEA 6 — R
134460 =Lk F L M 2 1,523 146 146 108 |REA 12897
34100 |#1/K 18 4,239 162 124 124 | B I 3248
34100 | #/IK L 15 5, 886 2,160 2,160 1, 782 |HEA 34—
34100 | # K L 25 9, 450 1,890 1, 890 1,890 | EIR B B — R
34100 | #A K A M 25 10,800 | 2,160 2,160 2, 160 | = IR 57—
34200 /K 10 864 86 86 86 | = I 1018
34500 bB—= 21 16, 870 86 76 76 |’ I 21348
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¥ e AR A =H
a—F i ik | PR (kg) £H (M) T i FAE PE Hh (BAL)
34500 | B—~ L 6 8, 100 135 135 135 | IR B 604%
34520 |FREr—<r 9 8, 392 97 97 86 | = Ik T 904¥
34520 FRE—~ R 2 432 432 432 432 | K4y 17 —2=
34520 R —< A L 2 3, 024 3, 024 3,024 3, 024 | =iy 14—
34571 |7V A (FR) 1 432 86 86 86 | #[E 5{&
34572 (X7 VU H () 1 324 65 65 65 | BE[E 5&
36200 B 2L 100 14, 472 1, 620 1,404 1,296 | dL#EE 1047 — A&
37200 | L x 9 2% 4 2, 484 65 65 59| Rl 403y 7
33400 L& A 17 6, 804 162 162 162 | K4y 4218
33410 |[¥r=—1H = L 3 1,134 76 76 76 | E W 158
33600 |/3t% Y 1 1,026 378 324 324 |18 348
38100 AL Wi 23 8,516 76 22 22 | BTl 298/ 77
34910 | &K 6 194 65 65 65 | "= I 3&
31500 |/MAZE 16 5,184 65 65 65 | IR S 8048
32500 | AT 2 324 22 22 11 |18 203
37560 | BBIT 1 864 108 108 108 | K4y 8%y 7
38300 72 Z 5 1,890 38 38 38 | Rl 504
38400 |2 DEH 10 3,915 43 38 38 | B I 10048
38521 | S L UHE 3 3,726 124 124 124 |$& 3048
40100 |HrA 36 4,536 76 76 76 | =I5 6048
40100 | B A 90 10, 368 1,188 1,188 1,080 |EEIRE 9 — =R
40100 |AM A L 50 5,076 1, 080 972 972 |REAR 54— A
41430 | v—F T — 30 4, 860 2,700 2, 700 2,160|F7 7 VA 24 —2R
41411 |4 A 5 1, 080 1,080 1, 080 1,080 | AFrt 1 —R
42133 | F ) AL — b 60 9, 720 1,944 1,404 1,404 | K% 64— A
42850 |EMYW AT 10 5,076 5,076 5,076 5,076 | & 2% 14—
Y4016 |H 2 oh B 6 432 432 432 432 | H & 17—
43500 |#h 40 5, 843 972 864 432 |48 84— A
43500 |#f 5 756 756 756 756 | B I 1 —x
43613 BAFHEMNME 50 5, 724 1,188 1,188 1,080 |#& 7 54—
45000 | HE D 3 2,700 270 270 210\ 7 AU A 103y 7
Y4044 | U A ET 2 2 4 2, 700 1,404 1,404 1,296 &8 S22y —R
45700 [< V) 3 1,296 432 432 432 | =i 3kg
Y4001 JEE A1 4L 5 1, 296 432 432 432 | FEA 3
47460 (S A ¥ AT 2 1, 080 270 270 270| 7 4 VBV 4fA
49100 |/SFF 120 11, 556 2,160 648 648| 7 4 U BV 10— R
49200 | /SA T v T 10 2,916 2,916 2,916 2,916 | 74 VY 17 —2R
49300 |F U 4 TN—Y 3, 499 292 292 292 | tR 1248
Y4055 | TAF 1,296 324 259 259 | & A 58 7
721010 | K3 19,116 86 76 76 | KPR AT 2504
71011 (A L—3 4, 320 86 86 86 | KERF 5074
ARt 2,233 425,316




